
8 7 6 5 4 3 2 1

D

C

8 7 6 5 4

10.  EARTHING : 2 Nos. (M6 x 10mm CHD.) Internal & 2 No. (M6 x 10 CHD) EXTERNAL WITH SPRING

13.  Ex-'d' Flameproof/weatherproof Enclosure confirmed to IS / IES 60079 - 0:2017 &IS /IEC 60079-1: 2014  CIMFR / PESO / ATEX

11.  Powder Shade : RAL 7032 / RAL 7035 / RAL 631 / RAL 632
12.  Tolerance : ± 10 to 15mm

2.  GAS GROUP                        IIA & IIB
3.  AREA CLASSIFICATION:-     ZONE 1 & 2
4.  DEGREE OF PROTECTION:-     IP66 AS PER IS 12063 - 1987 / IEC  60529 : 1989
5.  MATERIAL OF CONSTRUCTION:- ALUMINIUM ALLOY / SS 304 / SS 316 / SS316L
6.  HARDWARES:- SS 304
7.  MOUNTING PLATE :- MS GALVANIZED

TECHNICAL SPECIFICATIONS
FLAME PROOF JUNCTION BOX

PANEL SIZE :-
280x280x175

9.  GASKET  :- ENDLESS NEOPRENE
8.  MOUNTING PLATE SIZE :- 200x200 MM

FRONT VIEW

BOTTOM VIEW

280±10

175±10

2
8

0
±
1

0

2
8

0
±
1

0

1
7

5
±
1

0

280±10

200

2
0

0

340

380

Ø12MM

EARTHING

STUDS

MOUNTING PLATE

240±10

2
8

0
±
1

0

280±10

300±10

2
8

0
±
1

0

PANEL SIZE :-
280x280x240

PANEL SIZE :-
280x280x280

PANEL SIZE :-
280x280x175R.H.S VIEW

1.  CAT NO:- SEE/01234

SURAKHSHA-1



FRONT VIEW

BOTTOM VIEW

MOUNTING PLATE

380±10

175±10

3
8

0
±
1

0

3
8

0
±
1

0

1
7

5
±
1

0

380±10

300

480

435

Ø12MM

8 7 6 5 4 3 2 1

8 7 6 5 4 3 2 1

10.  EARTHING : 2 Nos. (M6 x 10mm CHD.) Internal & 2 No. (M6 x 10 CHD) EXTERNAL WITH SPRING

13.  Ex-'d' Flameproof/weatherproof Enclosure confirmed to IS / IES 60079 - 0:2017 &IS /IEC 60079-1: 2014  CIMFR / PESO / ATEX

11.  Powder Shade : RAL 7032 / RAL 7035 / RAL 631 / RAL632
12.  Tolerance : ± 10 to 15mm

2.  GAS GROUP                        IIA & IIB
3.  AREA CLASSIFICATION:-     ZONE 1 & 2
4.  DEGREE OF PROTECTION:-     IP66 AS PER IS 12063 - 1987 / IEC  60529 : 1989
5.  MATERIAL OF CONSTRUCTION:- ALUMINIUM ALLOY / SS 304 / SS 316 / SS316L
6.  HARDWARES:- SS 304
7.  MOUNTING PLATE :- MS GALVANIZED

TECHNICAL SPECIFICATIONS
FLAME PROOF JUNCTION BOX

PANEL SIZE :-
380x380x175

9.  GASKET  :- ENDLESS NEOPRENE
8.  MOUNTING PLATE SIZE :- 300x300 MM

3
0
0

EARTHING

STUDS

240±10

3
8

0
±
1

0

300±10

3
8

0
±
1

0

280±10

3
8

0
±
1

0

PANEL SIZE :-
380x380x240

PANEL SIZE :-
380x380x280

PANEL SIZE :-
380x380x300

R.H.S VIEW

1. CAT NO:-  SEE/01234

SURAKHSHA-2



8 7 6 5 4 3 2 1

8 7 6 5 4 3 2 1

10.  EARTHING : 2 Nos. (M6 x 10mm CHD.) Internal & 2 No. (M6 x 10 CHD) EXTERNAL WITH SPRING

13.  Ex-'d' Flameproof/weatherproof Enclosure confirmed to IS / IES 60079 - 0:2017 &IS /IEC 60079-1: 2014  CIMFR / PESO / ATEX

11.  Powder Shade : RAL 7032 / RAL 7035 / RAL 631 / RAL 632 .
12.  Tolerance : ± 10 to 15mm

2.  GAS GROUP                        IIA & IIB
3.  AREA CLASSIFICATION:-     ZONE 1 & 2
4.  DEGREE OF PROTECTION:-     IP66 AS PER IS 12063 - 1987 / IEC  60529 : 1989
5.  MATERIAL OF CONSTRUCTION:- ALUMINIUM ALLOY / SS304 / SS316 / SS316L
6.  HARDWARES:- SS 304
7.  MOUNTING PLATE :- MS GALVANIZED

TECHNICAL SPECIFICATIONS
FLAME PROOF JUNCTION BOX

PANEL SIZE :-
480x480x175

FRONT VIEW

R.H.S. VIEW

BOTTOM VIEW

480±10

4
8

0
±
1

0

175±10

4
8

0
±
1

0

1
7

5
±
1

0

480±10

533

580

Ø10MM

9.  GASKET  :- ENDLESS NEOPRENE
8.  MOUNTING PLATE SIZE :- 400x400 MM

400

4
0

0

EARTHING

 STUD

4
3

8

4
8

0
±
1

0

240±10

280±10

4
8

0
±
1

0

300±10

4
8

0
±
1

0

PANEL SIZE :-
480x480x240

PANEL SIZE :-
480x480x280

PANEL SIZE :-
480x480x300

1.  CAT NO:- SEE/01234

SURAKHSHA-3



8 7 6 5 4 3 2 1

8 7 6 5 4 3 2 1

10.  EARTHING : 2 Nos. (M6 x 10mm CHD.) Internal & 2 No. (M6 x 10 CHD) EXTERNAL WITH SPRING

12.  Powder Shade : RAL 7032 / RAL 7035 / RAL 631 / RAL 632
11.  Tolerance : ± 10 to 15mm

2.  GAS GROUP                        IIA & IIB
3.  AREA CLASSIFICATION:-     ZONE 1 & 2
4.  DEGREE OF PROTECTION:-     IP66 AS PER IS 12063 - 1987 / IEC  60529 : 1989
5.  MATERIAL OF CONSTRUCTION:- ALUMINIUM ALLOY/SS304 /SS316/SS316L
6.  HARDWARES:- SS 304
7.  MOUNTING PLATE :- MS GALVANIZED

TECHNICAL SPECIFICATIONS
FLAME PROOF JUNCTION BOX

PANEL SIZE :-
780x530x240

9.  GASKET  :- ENDLESS NEOPRENE
8.  MOUNTING PLATE SIZE :- 680x440 MM

FRONT VIEW

R. H. S. VIEW

BOTTOM VIEW

1
7

5
±
1

0

530±10

530±10
175±10

7
8

0
±
1

0

7
8

0
±
1

0

646

Ø12MM

EARTHING

STUDS

13.  Ex-'d' Flameproof/weatherproof Enclosure confirmed to IS / IES 60079 - 0:2017 &IS /IEC 60079-1: 2014  CIMFR / PESO / ATEX

240±10

7
8

0
±
1

0

345±10

7
8

0
±
1

0

280±10

7
8

0
±
1

0

PANEL SIZE :-
780x530x280

PANEL SIZE :-
780x530x345PANEL SIZE :-

780x530x175

1. CAT NO:-  SEE/01234

SURAKHSHA-4



FRONT VIEW

BOTTOM VIEW

R. H. S. VIEW

165±10

1
6

5
±
1

0

130±10

1
6

5
±
1

0

1
3

0
±
1

0

165±10

280±10

1
6

5
±
1

0

1
3
0

MOUNTING PLATE

8 7 6 5 4 3 2 1

8 7 6 5 4 3 2 1

10.  EARTHING : 1 Nos. (M6 x 10mm CHD.) Internal & 2 No. (M6 x 10 CHD) EXTERNAL WITH SPRING
11.  Ex-'d' Flameproof/weatherproof Enclosure confirmed to IS / IES 60079 - 0:2017 &IS /IEC 60079-1: 2014  CIMFR / PESO / ATEX
13.  Powder Shade : RAL 7032
14.  Tolerance : ± 10 to 15mm

2.  GAS GROUP                        IIC
3.  AREA CLASSIFICATION:-     ZONE 1 & 2
4.  DEGREE OF PROTECTION:-     IP65 AS PER IS 12063 - 1987 / IEC  60529 : 1989
5.  MATERIAL OF CONSTRUCTION:- ALUMINIUM ALLOY / SS304 / SS316 / SS316L
6.  HARDWARES:- SS 304
7.  MOUNTING PLATE :- MS GALVANIZED

TECHNICAL SPECIFICATIONS
FLAME PROOF JUNCTION BOX

9.  GASKET  :- ENDLESS NEOPRENE
8.  MOUNTING PLATE SIZE :- DIAMETER 130MM

180±10

1
6

5
±
1

0

230±10

1
6

5
±
1

0

PANEL SIZE :-
280x230x130

PANEL SIZE :-
280x230x180

PANEL SIZE :-
280x230x230

PANEL SIZE :-
280x230x280

1.  CAT NO:- SE/102



8 7 6 5 4 3 2 1

D

C

8 7 6 5 4 3 2 1

10.  EARTHING : 1 Nos. (M6 x 10mm CHD.) Internal & 2 No. (M6 x 10 CHD) EXTERNAL WITH SPRING
11.  Ex-'d' Flameproof/weatherproof Enclosure confirmed to IS / IES 60079 - 0:2017 &IS /IEC 60079-1: 2014  CIMFR / PESO / ATEX
12.  Powder Shade : RAL 7032
13.  Tolerance : ± 10 to 15mm

2.  GAS GROUP                        IIC
3.  AREA CLASSIFICATION:-     ZONE 1 & 2
4.  DEGREE OF PROTECTION:-     IP65 AS PER IS 12063 - 1987 / IEC  60529 : 1989
5.  MATERIAL OF CONSTRUCTION:- ALUMINIUM ALLOY / SS304 / SS316 / SS316L
6.  HARDWARES:- SS 304
7.  MOUNTING PLATE :- MS GALVANIZED

TECHNICAL SPECIFICATIONS
FLAME PROOF JUNCTION BOX

PANEL SIZE :-
280x230x130

9.  GASKET  :- ENDLESS NEOPRENE
8.  MOUNTING PLATE SIZE :- DIAMETER 190 MM

FRONT VIEW

R. H. S. VIEW

BOTTOM VIEW

MOUNTING PLATE

280±10

2
3

0
±
1

0

130±10

2
3

0
±
1

0

1
3

0
±
1

0

230±10

1
9
0

180±10

2
3

0
±
1

0

230±10

2
3

0
±
1

0

280±10

2
3

0
±
1

0

PANEL SIZE :-
280x230x180

PANEL SIZE :-
280x230x230

PANEL SIZE :-
280x230x280

1.  CAT NO:- SE/102



8 7 6 5 4 3 2 1

D

C

8 7 6 5 4

10.  EARTHING : 1 Nos. (M6 x 10mm CHD.) Internal & 2 No. (M6 x 10 CHD) EXTERNAL WITH SPRING
11.  Ex-'d' Flameproof/weatherproof Enclosure confirmed to IS / IES 60079 - 0:2017 &IS /IEC 60079-1: 2014  CIMFR / PESO / ATEX
12.  Powder Shade : RAL 7032
13.  Tolerance : ± 10 to 15mm

2.  GAS GROUP                        IlC
3.  AREA CLASSIFICATION:-     ZONE 1 & 2
4.  DEGREE OF PROTECTION:-     IP65 AS PER IS 12063 - 1987 / IEC  60529 : 1989
5.  MATERIAL OF CONSTRUCTION:- ALUMINIUM ALLOY / SS304 / SS316 / SS316L
6.  HARDWARES:- SS 304
7.  MOUNTING PLATE :- MS GALVANIZED

TECHNICAL SPECIFICATIONS
FLAME PROOF JUNCTION BOX

PANEL SIZE :-
330x280x130

9.  GASKET  :- ENDLESS NEOPRENE
8.  MOUNTING PLATE SIZE :- 250 MM DIAMETER

FRONT VIEW

R. H. S. VIEW

MOUNTING PLATE

330±10

2
8

0
±
1

0

130±10

2
8

0
±
1

0

1
3

0
±
1

0

330±10

2
5
0

180±10

2
8

0
±
1

0

230±10

280±10

2
8

0
±
1

0

PANEL SIZE :-
330x280x180

PANEL SIZE :-
330x280x230

PANEL SIZE :-
330x280x280

1.  CAT NO:- SE/102



FRONT VIEW

R. H. S. VIEW

BOTTOM VIEW

130±10

390±10

3
3

0
±
1

0

3
3

0
±
1

0

1
3

0
±
1

0

390±10

8 7 6 5 4 3 2 1

8 7 6 5 4 3 2 1

10.  EARTHING : 1 Nos. (M6 x 10mm CHD.) Internal & 2 No. (M6 x 10 CHD) EXTERNAL WITH SPRING
11.  Ex-'d' Flameproof/weatherproof Enclosure confirmed to IS / IES 60079 - 0:2017 &IS /IEC 60079-1: 2014  CIMFR / PESO / ATEX
12.  Powder Shade : RAL 7032
13.  Tolerance : ± 10 to 15mm

2.  GAS GROUP                        IIC
3.  AREA CLASSIFICATION:-     ZONE 1 & 2
4.  DEGREE OF PROTECTION:-     IP65 AS PER IS 12063 - 1987 / IEC  60529 : 1989
5.  MATERIAL OF CONSTRUCTION:- ALUMINIUM ALLOY  / SS304 / SS316 / SS316L
6.  HARDWARES:- SS 304
7.  MOUNTING PLATE :- MS GALVANIZED

TECHNICAL SPECIFICATIONS
FLAME PROOF JUNCTION BOX

PANEL SIZE :-
390x330x130

9.  GASKET  :- ENDLESS NEOPRENE
8.  MOUNTING PLATE SIZE :- 290 MM DIAMETER

2
9

0

180±10

3
3

0
±
1

0

3
3

0
±
1

0

280±10

3
3

0
±
1

0

230±10

PANEL SIZE :-
390x330x180

PANEL SIZE :-
390x330x230

PANEL SIZE :-
390x330x280

MOUNTING PLATE

1.  CAT NO:- SE/102



FRONT VIEW

R. H. S. VIEW

BOTTOM VIEW

110±5

1
1

0
±
5

75±5

7
5

±
5

110±5

8
0

MOUNTING PLATE

8 7 6 5 4 3 2 1

8 7 6 5 4 3 2 1

10.  EARTHING : 1 Nos. (M6 x 10mm CHD.) Internal & 2 No. (M6 x 10 CHD) EXTERNAL WITH SPRING
11.  Ex-'d' Flameproof/weatherproof Enclosure confirmed to IS / IES 60079 - 0:2017 &IS /IEC 60079-1: 2014  CIMFR / PESO
13.  Powder Shade : RAL 7032 / RAL 7035 / RAL 631 / RAL 632.
14.  Tolerance : ± 10 to 15mm

2.  GAS GROUP                        IIC
3.  AREA CLASSIFICATION:-     ZONE 1 & 2
4.  DEGREE OF PROTECTION:-     IP65 AS PER IS 12063 - 1987 / IEC  60529 : 1989
5.  MATERIAL OF CONSTRUCTION:- ALUMINIUM ALLOY / SS304 / SS316/ SS316L
6.  HARDWARES:- SS 304
7.  MOUNTING PLATE :- MS GALVANIZED

TECHNICAL SPECIFICATIONS
FLAME PROOF JUNCTION BOX

9.  GASKET  :- ENDLESS NEOPRENE
8.  MOUNTING PLATE SIZE :- DIAMETER 80 MM

150±5 180±5 230±5

JUNCTION BOX SIZE :-
        110x110x75

JUNCTION BOX SIZE :-
        110x110x150

JUNCTION BOX SIZE :-
        110x110x180

JUNCTION BOX SIZE :-
        110x110x230

1.  CAT NO:- SE/103



8 7 6 5 4 3 2 1

8 7 6 5 4 3 2 1

FRONT VIEW

R. H. S. VIEW

BOTTOM VIEW

2
2

5
±
5

75±5

2
2

5
±
5

7
5

±
5

42

12

6

HOOTER 24V DC

 90 TO 110DB

R

FRONT VIEW

R. H. S. VIEW

BOTTOM VIEW

2
2

5
±
5

75±5

2
2

5
±
5

7
5

±
5

42

12

6

E.STOP

START

PB-1

FRONT VIEW

R. H. S. VIEW

BOTTOM VIEW

2
2

5
±
5

75±5

2
2

5
±
5

7
5

±
5

42

12

6

6A 2P ON/OFF S S

FRONT VIEW

R. H. S. VIEW

BOTTOM VIEW

2
2

5
±
5

75±5

2
2

5
±
5

7
5

±
5

42

12

6

E.STOP

9.  EARTHING : 1 Nos. (M6 x 10mm CHD.) Internal & 2 No. (M6 x 10 CHD) EXTERNAL WITH SPRING
10.  Ex-'d' Flameproof/weatherproof Enclosure confirmed to IS / IES 60079 - 0:2017 &IS /IEC 60079-1: 2014  CIMFR / PESO
11.  Powder Shade : RAL 7032 / RAL 7035 / RAL 631 / RAL 632
12.  Tolerance : ± 10 to 15mm

1.  GAS GROUP                        IIC
2.  AREA CLASSIFICATION:-     ZONE 1 & 2
3.  DEGREE OF PROTECTION:-     IP65 AS PER IS 12063 - 1987 / IEC  60529 : 1989
4.  MATERIAL OF CONSTRUCTION:- ALUMINIUM ALLOY
5.  HARDWARES:- SS 304
6.  MOUNTING PLATE :- MS GALVANIZED

TECHNICAL SPECIFICATIONS
FLAME PROOF JUNCTION BOX

8.  GASKET  :- ENDLESS NEOPRENE
7.  MOUNTING PLATE SIZE :- DIAMETER 80 MM

HOOOTER WITH

    FLASHER

PUSH BUTTON

     STATION

     D JB WITH

ROTARY SWITCH

       D JB WITH

EMERGENCY STOP

LIVER TYPE

LIMIT SWITCH

FRONT VIEW
R.H.S VIEW

BOTTOM VIEW

2
2

5
±
5

240±5

2
2

5
±
5

2
4

0
±
5

SWITCH SOCKET

1.  CAT NO:-  SE/ 103



FRONT VIEW

CABLE ENTRY

CABLE ENTRY

R.H.S VIEW

BOTTOM VIEW

1
1

9

155±5

2
8

0
±
5

1
1

9

245±5

2
8

0
±
5

1
5

5
±
5

FRONT VIEW

CABLE ENTRY

CABLE ENTRY

R.H.S VIEW

BOTTOM VIEW

1
1

9

155±5

2
8

0
±
5

1
1

9

245±5

2
8

0
±
5

1
5

5
±
5

8 7 6 5 4 3 2 1

8 7 6 5 4 3 2 1

10.  EARTHING : 1 Nos. (M6 x 10mm CHD.) Internal & 2 No. (M6 x 10 CHD) EXTERNAL WITH SPRING
11.  Ex-'d' Flameproof/weatherproof Enclosure confirmed to IS / IES 60079 - 0:2017 &IS /IEC 60079-1: 2014  CIMFR / PESO
12.  Powder Shade : RAL 7032 / RAL 7035 / RAL 632 / RAL 631
13.  Tolerance : ± 10 to 15mm

2.  GAS GROUP                        IIA & IIB
3.  AREA CLASSIFICATION:-     ZONE 1 & 2
4.  DEGREE OF PROTECTION:-     IP65 AS PER IS 12063 - 1987 / IEC  60529 : 1989
5.  MATERIAL OF CONSTRUCTION:- ALUMINIUM ALLOY
6.  HARDWARES:- SS 304
7.  MOUNTING PLATE :- MS GALVANIZED

TECHNICAL SPECIFICATIONS
FLAME PROOF JUNCTION BOX

9.  GASKET  :- ENDLESS NEOPRENE
8.  MOUNTING PLATE SIZE :- DIAMETER 80 MM

1.  CAT NO:- SE/105

FLP BEACON LIGHTFLP PCB LIGHT FITTING



FRONT VIEW

CABLE ENTRY

CABLE ENTRY

R.H.S VIEW

BOTTOM VIEW

1
1

9

155±5

2
8

0
±
5

1
1

9

245±5

2
8

0
±
5

1
5

5
±
5

245±5

155±5

110±5

FRONT VIEW

100±5

CABLE ENTRY

110±5

BOTTOM VIEW

2
8

0
±
1

0

1
0

0
±
5

1
1

0
±
5

1
5

5
±
5

1
1

0
±
5

2
8

0
±
5

8 7 6 5 4 3 2 1

8 7 6 5 4 3 2 1

10.  EARTHING : 1 Nos. (M6 x 10mm CHD.) Internal & 2 No. (M6 x 10 CHD) EXTERNAL WITH SPRING
11.  Ex-'d' Flameproof/weatherproof Enclosure confirmed to IS / IES 60079 - 0:2017 &IS /IEC 60079-1: 2014  CIMFR&PESO
12.  Powder Shade : RAL 7032 / RAL 7035 / RAL 631 / RAL 632
13.  Tolerance : ± 10 to 15mm

2.  GAS GROUP                        IIA & IIB
3.  AREA CLASSIFICATION:-     ZONE 1 & 2
4.  DEGREE OF PROTECTION:-     IP65 AS PER IS 12063 - 1987 / IEC  60529 : 1989
5.  MATERIAL OF CONSTRUCTION:- ALUMINIUM ALLOY
6.  HARDWARES:- SS 304
7.  MOUNTING PLATE :- MS GALVANIZED

TECHNICAL SPECIFICATIONS
FLAME PROOF JUNCTION BOX

9.  GASKET  :- ENDLESS NEOPRENE
8.  MOUNTING PLATE SIZE :- DIAMETER 80 MM

     3 TIER TOWER

 LAMP WITH HOOTER

 HOOTER WITH

BEACON LIGHT

1.  CAT NO:-  SE/105


